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Complete each decimal problem. Circle your answers. You MUST SHOW YOUR WORK to receive full credit.

Find each sum or difference. All fractions must be in simplest form.
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fractions must be in simplest form.
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Write 5%in standard
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Write 10° in
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Write3x3x3x3in
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form .. expanded form. exponential form.
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189 —-33-4 r=1,s=10,t=5 a=2andb=8 x=3,y=4,2=12 _
3 AN
Ss—t+rxs+t b? —a(b + a) xz -5 415
: TN s : 15— xy .



Identify the property shown by each mathematical statement.

24, 25. 26. 27,
O+x=x 3(g+7)=3-g+3-7 (\ 4x9=_9x!4 . (-a)+a=0
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Distribute. Factor completely.
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At the supermarket, Jalen When Perek planted a treeit | Jasmine feeds her cat g cup of | Arectangle has a length of 4%
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